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Solving Using Square Roots 7

Simplify.
1. V18 N El
- V16
2.4
2
8 —
NE
3. 2747
: |
= 7
4. 1242 - % \3
5. 175 i
10. J—
V49
6. &
9
Solv;
11.Vx” 490 . 16. 2(x-3)"=8
— 2 <2

-t 2l
=2 30 sl P
12. 3x? —108 17. 4(x+1)2 =100 e
ey 174 st RS
\r—ﬂ:f— K1) 2 SRS ‘

13, 2x% +5=41 _ __
t5=4l Wj&; 18, 3(x+2) 18

4% = 2 53] Vs X2

1. _xziti.z:;;gg m 19. 5(x—7) _135 X;’l;_/z
.-){2-:"‘7{/7 ~ X_r7_-::’:33
mqu} \j(x = \/ K= 7535 ]

15. 7 10x” —1

..4f Ve o 2 8x+4)2 9

/ =
’fo —:i:f? Vet ’r}‘




AC Math L Name

ey
-

Solving Quadratic Equations
By Factoring & Using Square Roots

Solve each equation or find the zeros of the function by factoring or using square roots.
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